1902

Parts Breakdown

V/rled,dbds

8/18/2010

Page 1 of 2



V/771i

Products with multiple versions are listed in subsiding order with the newest version on top not indented

T

@ooxlmm.hmm—\)a
+

/ |

b A A &

Part ID
911128-8
416523-2
271231-0
812137-9
941251-5
150847-3
859017-8
682502-4
664013-1
687063-9
911133-5
651232-8
411170-4
911148-2
211061-7
961015-1
241510-0
511936-3
681614-0
211028-5
593116-3
911128-8
4111534
191947-0
194972-0
643550-8
231004-3
421007-7
316963-3
911226-8
316964-1
211032-4
161061-6
911586-8
152565-9
911148-2
222145-6
411019-8
263002-9
911148-2
225071-8
222146-4
211062-5
263002-9
343433-9
342430-2
251246-3
345007-2
251609-3
123062-2
782209-3
193996-3
D-16966
810166-6

652008-6

Parts Breakdown

Part Name

P.H. SCREW M4X16, 1902

CHIP COVER, HM0860C

KNOB 46, N1900B

SCALE PLATE, N1900B

F. WASHER 10, LS1030

MAIN FRAME CPL., HM0860C

NAME PLATE, HM0860C

CORD GUARD 8-85, HP2010N

CORD (2X18X8 SJT), N9501B

STRAIN RELIEF, 4323K

P.H. SCREW M4X18, N9501B

SWITCH, 9218SB

HANDLE COVER, N1900B,T1

P.H. SCREW M4X25, 5057KB

B. BEARING 6000LLB, 6222DWE

STOP RING E-9, BO5021

FAN, N1900B

ARMATURE ASS'Y 115V, N1900B

INS. WASHER, 9031

B. BEARING 627LB, 6510LVR

FIELD ASS'Y 115V, N1900B

P.H. SCREW M4X16, 1902

BAFFLE PLATE, N1900B

CARBON BRUSH 76, 6905B

CARBON BRUSH SET CB-76, 6905B
BRUSH CAP , 9031

COMP. SPRING 18, 1912B

RUBBER PACKING, N1900B

FRONT BASE, HM0860C

P.H. SCREW M5X18, GA7911

BASE, HM0860C

B. BEARING 608ZZ, N1900B

DRUM, N1900B

PAN HEAD SCREW M4X60, HM0860C

BRACKET COMPLETE, HM0860C

P.H. SCREW M4X25, 5057KB

V-PULLEY 4-18L, HM0860C

BELT COVER, 1902

RUBBER PIN 4, HR2400

P.H. SCREW M4X25, 5057KB

POLY V BELT, 1902

V-PULLEY 4-38, HM0860C

B. BEARING 6000ZZ, N1900B

RUBBER PIN 4, HR2400

SET PLATE (MINI BLADE), N1900B

ADJUST PLATE, 1902

P.H. SCREW M4X5, 1902

DRUM PLATE SET, N1900B

H.F.H. BOLT M6X17, 2030S

BLADE GAUGE, 1902

SOCKET WRENCH, 4200H

N/A

DOUBLE EDGED BLADE SET, N1900B
N/A

P.H. SCREW M3.5X7, PV7001C

Page 2 of 2

Quantity

B aAaPMNNLCAAaAOOL,L,DPADNNADA A A AN, A a0 A NN aa PN aaaN ", A AanamaaaoaaaaaabdaaN"AAmaaaaaaaaan

1902

8/18/2010



